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1) Answer these multiplication sums

a) 255 x 4=

b) 7000 x 9 =

c) 35x8-=

d) 450x5-=

e) 800 x 50 =

2) =923 x6




3) A shop sells approximately 1360 packets of crisps a month. How
many crisps do they sell in the months with 31 days altogether?
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4) Tom buys a football sticker book to collect his football stickers
in. He wants to buy some for his friends too. He buys 7 in total. How
much does he spend?
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5) A large group of families went on a trip to a theme park. They
recorded how much each family needed to pay in a table. Fill in the
missing amount.

Family Cost of 1 Number | Total cost for

ticket of family |the family
members

The £22.59 4 £ 90.36

Harrisons

The Patels £22.59 5 £ 112.95

The Smiths £22.59 2 £45.18

The Wards £22.59 7

The Roberts £22.59 3 £67.77

6) 67 x14-=




7) 324 x19 =

8) 5162 x 21 =

9) Christopher gets £6.25 from his Nana each month and £3.25
from his aunty each month for pocket money. He saves this money in
the bank. How much money will he save in a whole year?
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10) Harry has 36 sweets. Circle all the possibilities of how he could
share these in to equal groups:

8 4 7 36 3 6 12 1 b5

11) Find the common factors of 50 and 100

12) Add data to each part of the table below. One has been
completed for you

Multiple of 8 Multiple of 12
Less than 50 32
More than 100
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